
Multipliziere halbschriftlich!

42 422· 2 = 42 020· 9=

15 769· 8 = 25 954· 7=

4 460 · 6 = 86 558· 8=

18 470· 5 = 3 403 · 4=
87 745· 4 = 40 695· 3=

5 229 · 7 = 40 069· 6=

77 426· 8 = 38 763· 9=
7 415 · 9 = 21 792· 7=

74 571· 4 = 95 493· 3=

95 003· 6 = 7 147 · 5=
7 574 · 3 = 4 569 · 8=

2 873 · 8 = 5 409 · 4=

79 969· 2 = 4 741 · 9=

1 039 · 7 = 35 836· 2=

59 396· 9 = 11 124· 7=

66 834· 3 = 6 569 · 8=

1 280 · 8 = 6 742 · 5=

45 509· 7 = 1 658 · 6=

16 243· 5 = 71 907· 4=

31 447· 9 = 85 787· 7=

7 615 · 2 = 78 126· 8=

53 941· 3 = 3 623 · 9=

21 408· 4 = 10 541· 3=



Lösungen:

42 422· 2 = 84 844 42 020· 9= 378 180

15 769· 8 = 126 152 25 954· 7= 181 678

4 460 · 6 = 26 760 86 558· 8= 692 464

18 470· 5 = 92 350 3 403 · 4= 13 612
87 745· 4 = 350 980 40 695· 3= 122 085

5 229 · 7 = 36 603 40 069· 6= 240 414

77 426· 8 = 619 408 38 763· 9= 348 867
7 415 · 9 = 66 735 21 792· 7= 152 544

74 571· 4 = 298 284 95 493· 3= 286 479
95 003· 6 = 570 018 7 147 · 5= 35 735

7 574 · 3 = 22 722 4 569 · 8= 36 552

2 873 · 8 = 22 984 5 409 · 4= 21 636

79 969· 2 = 159 938 4 741 · 9= 42 669

1 039 · 7 = 7 273 35 836· 2= 71 672

59 396· 9 = 534 564 11 124· 7= 77 868

66 834· 3 = 200 502 6 569 · 8= 52 552

1 280 · 8 = 10 240 6 742 · 5= 33 710

45 509· 7 = 318 563 1 658 · 6= 9 948

16 243· 5 = 81 215 71 907· 4= 287 628
31 447· 9 = 283 023 85 787· 7= 600 509

7 615 · 2 = 15 230 78 126· 8= 625 008

53 941· 3 = 161 823 3 623 · 9= 32 607

21 408· 4 = 85 632 10 541· 3= 31 623
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